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PART A: Grammar and Vocabulary
Directions: Questions 31-35 are incomplete sentences. Beneath each sentence you will see four words
or phrases, marked (1), (2), (3), and (4). Choose the one word or phrase that best completes the
sentence. Then mark your answer sheet.
31- I’m going to wear my ............ dress to the wedding. What are yod going to wear?
1) cotton blue beautiful 2) beautiful blue cotton
3) cotton beautiful blue 4) beautiful cotton blue
32- She ............ research in physics and translated Newton’s theories into French, which helped his ideas
gain acceptance in France.
1) did 2) made 3)had - 4) got
33- Your tests came back from the medical ............ about an hour ago, and the results were negative.
1) experiment 2) comparison
3) observatory 4) laboratory
34- The weather was ............ in the morning, but it got sunnier and sunnier throughout the day, and by late
afternoon it was beautiful outside.
1) cloudy 2) natural
3) powerful 4) wonderful
35- He runs his own little furniture factory, where he ............ high quality chairs, tables and desks, using

the finest materials available.
1) holds 2) raises 3) builds 4) takes
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PART B: Reading Comprehension
Directions: In this part of the test, you will read a passage. The passage is followed by five questions.
Answer the questions by choosing the best choice, (1), (2), (3), or (4). Then mark your answer sheet.

The leopard is a small animal compared to the lion and the tiger, but many people think that it is the
- most dangerous of the big cats. For its weight, the leopard is one of the strongest of the cats. It is an
excellent climber and can run up a tree with astonishing speed. It can even climb a tree while carrying a
prey twice its own weight. It can leap up more than three meters in the air and jump down on its prey from
a height of fifteen meters.

The leopard’s skin of greyish gold with dark spots or rings provides excellent camouflage among the
branches of a tree. Although the leopard may be seen during the day, it is most active at night.

The leopard is particularly dangerous because it hunts near towns and villages for dogs. Leopards
sometimes can turn into deadly human-eaters. They terrorize large areas for years. A leopard can easily

“carry a full-grown person off into the bushes or up a tree.

The late hunter, Jim Corbett, wrote about a leopard that killed four hundred people before he shot it in
1910. Corbett said that human-eating leopards are rare but very difficult to stop because they are smart
and wary. Such leopards still appear from time to time in India and Africa. However, most leopards will
not attack people unless provoked or wounded.

36- Why do many people consider the leopard as the most dangerous?

1) It is smaller than a tiger. 2) It can leap high into the air.

3) It is one of the strongest of the cats. 4) It can jump down from a great height.
37- What advantage does the leopard’s skin offer? ‘

1) It frightens away all the other animals. 2) It keeps the leopard warm at night.

3) It makes the animal very beautiful. 4) It hides the leopard well among the trees.
38- Leopards roam near towns and villages because ............ .

1) they are attracted by the dogs 2) they want to be particularly dangerous

3) they are known as human hunters 4) they enjoy the company of humans
39- The word “wary” in the 4™ paragraph is closest in meaning to ............ .

1) dangerous 2) amazing 3) careful 4) natural
40- Most leopards will attack humans when ............ .

1) they are disturbed or injured ~ 2) they cannot hunt in other areas

3) they are fully grown 4) they are near extinction
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